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Name: Date:

Addition (Word Problems)

Q1. Meena has 23 stickers. Reena has 44 stickers. How many stickers did they
have in all?

Solution:

Q2. A grocer sold 46 packet of sugar on Tuesday and 30 packets of sugar on
Wednesday. How many packets did he sell in two days?

Solution:

Q3. An orchard contains 21 mangoes trees and 18 papaya trees. How many
trees are in the orchard?

Solution:

Q4. Tia has collection of 63 story books. Ria has 36 story books. How many
books do they have together?

Solution:

Visit https://worksheetswithfun.com/ for free printable worksheets.
Visit https://educationwithfun.com/ for study material.
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Addition (Word Problems)

Q1. Meena has 23 stickers. Reena has 44 stickers. How many stickers did they
have in all?

Solution:
T O
2 3
+4 4
6 7

Q2. A grocer sold 46 packet of sugar on Tuesday and 30 packets of sugar on
Wednesday. How many packets did he sell in two days?

Solution:
T O
4 6
+3 0
7 6

Q3. An orchard contains 21 mangoes trees and 18 papaya trees. How many
trees are in the orchard?

Solution:
T O
2 1
+1 8
3 9

Q4. Tia has collection of 63 story books. Ria has 36 story books. How many
books do they have together?

Solution:
T O
6 3
+3 6
9 9

Visit https://worksheetswithfun.com/ for free printable worksheets.
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